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QUESTION 1

Which action can be taken if an instance is down?

A. A point-in-time mixed restore.

B. Warm restore of non-critical storage spaces.

C. Cold restore by onbar using storage space backups taken by ontape on tape devices.

D. A mixed restore using onbar whole system backup and incremental dbspace level backups.

Correct Answer: A

QUESTION 2

Which one keyword in this query makes the AVG an OLAP window expression instead of the regular aggregate
operator? SELECT AVG(SUM(dollars)) OVER() FROM sales;

A. SUM

B. OVER

C. FROM

D. AVG (SUM(dollars))

Correct Answer: B

QUESTION 3

Which parameter can automatically adjust other configuration parameters that are not present in the configuration file?
A. AUTO_PERF

B. AUTO_TUNE

C. AUTO_CONFIG

D. AUTO_ENABLE

Correct Answer: B

QUESTION 4

To potentially return unused extent pages to the chunk free list, an Informix administrator would execute which storage
optimization operation?

A. Shrink
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B. Repack
C. Compress
D. Defragment

Correct Answer: A

QUESTION 5

What are two requirements for the "ifxclone" utility? (Choose two.)

A. All databases must use logging.

B. The source server must be a secondary server.

C. Only one server clone process can occur at a time.

D. Both the source and target servers must be part of a trusted network environment.

E. Both the source and target servers must use the same type of disk space (raw or cooked).

Correct Answer: CD
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